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Guess Paper – 2010
Class – X
Subject – Maths           

Time allowed: 2 Hours





Maximum Marks: 50

General Instructions:
(i) All questions are compulsory.

(ii)
Question numbers 1 to 8 are very short answer type questions. These questions carry one mark each.

(iii)
Question numbers 9 to 14 are short answer type questions and carry two marks each.

(iv)
Question numbers 15 to 18 are also short answer type questions and carry three marks each.

(v)
Question numbers 19 to 21 are long answer type questions and carry six marks each. 

1. State whether true or false.








(1)
(i) The decimal expansion of a rational number is either terminating or non-terminating non-repeating.

(ii) If n is a prime number, then 
[image: image1.wmf]n

is irrational.
2. Solve the quadratic equation 8 – 2x – x2 = 0 by the factorisation method.


(1)
3. If one of the roots of the polynomial 2x2 + mx + 15 is –5, then find the other root.
(1)
4. Check whether the following pair of linear equations is consistent or inconsistent. 
(1)
–4x + y = 17

x – 4y = 17

5. While solving the equations 2s + 3t = 13 and 5s – 4t = –2 by the cross multiplication method, we obtain 
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What are the values of A and B?







(1)
6. Is 
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525

a terminating decimal?







(1)
7. When the HCF of 56 and 308 is calculated by Euclid’s algorithm, the steps involved are given as
308 = P ( 5 + Q
56 = Q ( 2 + R
What is the value of Q?








(1)
8. Find the number of zeroes of the polynomial p (x) whose graph is shown in the given figure.











           (1)
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9. Check whether (15)n can end with the digit 0 for any natural number n.


(2)
10. Solve the quadratic equation 4x2 – 4x = 17 by completing the square.


(2)
11. Find the value of a positive real number m such that the quadratic equation 2x2 – mx + 48 = 0 has equal and real roots.








                       (2)
12. Show that 
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is irrational.







(2)
13. Find the quotient and remainder when the polynomial 5x3 – 11x2 + 2x + 2 is divided by 5x – 1.











            (2)
14. Solve the following pair of equations by the substitution method.

            (2)
2x – y = 2

3x – 2y = 7

15. Rahul is 4 years younger than Aarti. Is it possible that after 3 years the product of their ages will be 5 years less than 4 times the present age of Rahul?




(3)
16. The number 78408 can be prime-factorised as ab ( bc ( (11)a. What are the values of a, b and c?











(3)
17. Check whether the following pair of equations is consistent. If so, then solve the equations graphically.










(3)
2x + 3y – 6 = 0

5x + 3y – 15 = 0

18. Find all the zeroes of the polynomial 3x4 + 7x3 – 94x2 – 320x – 96 if two of its zeroes are 6 and – 4.










            (3)
19. 4 women and 6 men can finish a work in 3 days. 2 women and 9 men can also finish the same work in 3 days. Find the times taken by one woman and one man to finish the work alone.











            (6)
21. For a cubic polynomial ax3 + bx2 + cx + d, the sum of the roots is zero, the sum of the squares of the roots is –6, and the sum of the cubes of the roots is 
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. Find the cubic polynomial. Also, prove that 2d = –3c









             (6)
21. The distance between two positions A and B is 180 km. Two cars X and Y start from A and B respectively, and move towards each other. Car X reaches position C, which lies exactly between positions A and B, 1 hour before car Y. The difference between the speeds of the cars is 4 km/h. 

Find the speed of car X.





                          (6)
Paper Submitted by: Rahul kadd

Email :   oscaracademydelhi@gmail.com

Ph No.: 01165167872

-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image7.png]_1321442742.unknown

_1321448351.unknown

_1321872849.unknown

_1321444603.unknown

_1321441756.unknown

